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# cading sAift iis
import numey as np

From numpy import genfromtst 5/{7~5|) 0)’(?/7'_2_'\

import networks as nx

from soipy import integrate (numpy, matplotlib, networkx)

import matplotlib_pyplot as plt

print ‘start’

. def frank_wolfela,t_0,t_1,0d):
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FﬁﬁtA a: adjacency matr i= (R E{TH])
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for i in rangeia. shape[0]):

for j imrangela shape[0]):

if ad[i,j] 1= 0: (1) -
shar test_path = ns.dijkstra_path(G, i, j, "weight')

for k im rangel len(shortest _path)-1): X §§-Zé

% [shor test _path [K], =zhortest_path[k+1]] += od[i,]]

n = 1gRanaat aumhar af saloufations
while True:
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for i imrangela shape[0]):
for j im rangelfa.shape[0]):

i od[i, ] 1= 0 Step3

shartest _path = ns.dijkstra_path(G i,j," weight')

For k i {len(shor test_path)—1): N n) L=
O Lehor test_pathik]. shortest path(ksi]] += odlisi] Kﬁ?ﬁﬁ’\7|‘)lxd( ) RTE
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Decision on descent step size by Golden section method(BESEEIZLIETAF w7 H 1 ZBE)
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For i imrangela shape[0]): Step4

for j in rangela.shape(0]):
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return z

z_g t= zig)[0]
z_h += z(h) [0]
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whi le True:
if m—1 < 0_001:
a_n = (1m)F2.0 flapision an decant stap size(NEHN TEFATLER TR 7w FH 1 Ja nBET
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else:
if z_g »= z_h:
4
h
m
= | 4s%(m- 1)
z z_h
z_h 0.0
for i imrangela.shapel0]):
for j im rangela. shape[0]):
if ali.il 1= 0:
def z(a_n):
z = integrate quad(lambda wo t_0[i, j] # t_1T[i, j] #om
O0,a_nwe[i,§] # C1-a_nd#s[i, 1)
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return z
z_h += z(h)[0]
elif z_g <= z_h:

1 =1

m=h

ho=gy

g = m-s%(n- 1)
zh = z_x
zw = 0.0

for i imrangela.shapel0]):
for j im rangela. shape[0]):
if ali.j] 1= n:




for j im range(a. shape[0]):
it ali, il 1= 0: Step4
def z(a_n):
z = integrate quad(lambda w. t_0[i,J] + t_11[i,j] %
0. 0,a_re[i,4] # Cl-a_n)#=[i,jl)
return z
z_g += zlg) [0]
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syusoku_list = []

for | im rangela shape [0]):
for j im rangela.shapel[0]):

it x i, il 1= 0 Step5

syusoku = np.absolute(Cs_2 [i. il == li. 10 [i, il12

syusoku_list. appendisyusaku) lllﬁ*“fé

int maxizvusoku_list)
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return x =
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print x

print ‘end
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